Results

1st Place goes to Dio, 2nd to Kings and 3™ to Grammar on count Back from Macleans -4".

The tie between Macleans and Grammar was broken using Appendix D4.4 a — Ties in a Completed Round-Robin Series, where the race wins between the tied teams are used to break the tie in
the aggregate number of race wins. Grammar beating Macleans 2-0 over the series.

Results Table Round 1 Round 2
Team A B C D E F G H | Wins | Loss | Place A B C D E F G H | Wins | Loss | Place | Wins
A | Kings W |W |W |[W |W |W|W L 7 1 = W |W |W [W |W L W | W 7 1 2
B | Macleans L W L W |W L W L 6 2 3L W |W |W |W L W L 5 3 4
C | Long Bay L L L L L L L L 0 8 9L L L W | W L L L 1 7 =
D [ StKents L L W L W L W |WwW 4 4 =|L L W L W L W L 3 5 6
Glendowie
E]A L L W |W W L W L 4 4 5= | L L W | W W L W L 4 4 5
Glendowie
F | Girls L L W L L L L L 1 7 7L L W L L L L L 1 7 =
G | Dio L W |W |W [W |W W W 7 1 =|W W |W |W [W |W W | W 8 0 1
H [ St Cuths L L W L L W L L 2 6 6 |L L W L L L L L 1 7 =
I Grammar W L W L W |W L 5 3 4| L W |W | W




